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FAR FAR

3.0 pl,u2,u3,ud,us,u6,u7

2.0

3000 20000

ERFK
4
FAR =pl*ml+p2*m2+p3*m3+p4*m4
FAR pl,p2,p3.,p4
ml,m2,m3,m4
1
1
1%

1 10% m1=0.04
2 10% 20% m2=0.03
3 20%  30% m3=0.02
4 30% m4=0.01
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Al 1.0
ul A2 0.8
Bl CBD 1.3




Mizk—=

Al 1.0

ul A2 0.8
Bl CBD 1.5
B2 1.2
B3 Tob 1.1

2
B4 1.0
B5 0.9
B6 0.8
Cl-1
Cl1-2 <250m* 1.3 1.2
C1-3 250  500m 1.2 1.1
Cl-4 500 800m 1.1 1.0
Cl-5 800m 1.0 1.0

u3 C2-1 <250m 1.2 1.1
22 250  500m 1.1 1.05
C2-3 500m 1.0 1.0
C3-1 N >2 1.2
C3-2 N -1 N >2 1.1
C3-3 N -1 N = 1.0
C3-4 N < 0.9
D1 ’ 0.8

ud
D2 1.0
El <0.5 1.2
E2 0.5 s <l 1.1
E3 1 s 1

s E4 2 s 3 0.95
ES 3 S <5 0.9
E6 5 S <8 0.85%
E7 S % 0.8%
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Fl L /L <0.5 0.9
F2 0.5<L /L <0.7 0.95
p F3 0.7<L /L <15 1.0
F4 15<L /L <2 1.05
F5 2<L /L 1.1
Gl 1.4
W7 G2 1.0
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